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1.0ptions shown in green color with a tick icon are correct

2.Chosen option on top right of the question indicates the option selected by the candidate
3.The numbers indicated against the Question ID and Option ID are the numbers to be noted
and used for raising objections
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fre K1 2.04 ms!
V2 24 ms!
#2260 ms!
#4367 ms!

Q3 20th of November 2018 is a Thursday. 29th of November 2021 willbea .
Ans X 1. Saturday

/X 2 Sunday

+ 3 Monday

< 4 Friday

Q4 Rftes v & T FEw & BE & B T # FUEHT B AT AT S

R
X 2 FrAFESAT
23 TR AT
v . aREaRE

Q.5 ‘Whoamong the following was appointed as a whele-time member of market regulator Securitbes and Exchange Board
of India (SEBI) on 7 November 20177

Ans X 1. UK. Sinha
2 2. V. Ramakrishnan
# 3. Neelam Damodaran
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+ + Sanjeev Kaushik
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cot 30 2 1 + sin 45 =9
1 +5in45? cot30®

A o 5V3-6VE
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K23-243
v 144/3-546
B

x4 BVE-543
6

a7 F gereT B

Ans X 1. HerfREaE (Magnesium)
+ 2 et (Chlorine)
X 3 fFeera (Krypton)
X+ @fEEA (Sodium)
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Ans X 1. IO WEa
v 2 of¥gs Fe e
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Ans a1 (o
X2A
V3D
X+B

% afr  cot*® + cot?@ = 2.2, AY cosec*d - cosec? =?
Ans x‘l‘ 0

<211

X333

V422
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G AR & € smer ¥ IWER S TEw AT
26, 29, 33, 38,
Ans X142
X 2 B0
v a4
X4 54

%' ofr C=24, EYE=46, & FOX 7 ¥?
Ans K 1. 33

V236

K 3. 35

K 4. 40

% ‘COUGH’ #r dfasr =dur oY a1 2ni?

COUGH | HDUOD Imne“ H‘Jnml

A B & D

Ans X1 D
2B
X3 A
vic
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041 #rr R v wiwdt & agers, AfaaE Ml ATew @ AYER BATYEdw T i)
7,2,10, 4, 3, 12, 8, 4, 6, 4.
Ans a1 30
K212
v 60
X420

% CratafRT Suft F T 9 w1 e

20 N,
Ans o 1. 18R

X2 16P

X3 R18

X4 P16

Q.1 100 kg FTAH T TF aEg A 6 s A Oms™T F 1T ms™ F & & vewAw w9 § =fE B e
¥ 7E W ST T A Ao 1]

Ans
X1 200 ms™?
X2 200 ms™*
V'3 200 N
X 4 200 Pa
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Q.1 Which of the following projeet’s objective is 1o ensure the operational nimaround of the banks and stressed companies?
7

Ans X 1. Project Samridhi
/< 2. Project Sukanya
3 Project Sashakt
/< 4. Project Parivartan

% 6xy2z, 8x2yiz% 1223y 2 @ AW, AT ATeT
Ans X 1. 2xyz

X2 4xy?z

X 3 3xy’z

v 4 2xy?z

Y 233 gzincH AewHrEE @@y
AN 1035

X2 025

X3 053

X037

Q.2
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Ans 1 10

2.3.4.

Notl:lor this question, discrepancy is found in question/answer. So, This question is ignored
for a'lgandidates.

13
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Qéz 2017 # HRATRE 643 Fumrer fiew 3ad # WEAS MR 1 [T fRes SEr
Ans -Kl E
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X 2 SiEres (Wi F=r

X 3. SETH(eTEE)Fe

X o qTAT] FA

Q2 rgpu B e oo F oMy oo R o R oad dm @ o 12
4 ser a s e g

v 1. % 7,986
X237 7,898
X3 % 7,800
X4 77,928

Ans

Q.2
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Q.2 ‘Wimal is the son of Mikka, and Nina is the daughter of Milan. Milan is the sister of Mikka. Who is Milan to Vimal?
6

Ans X 1. sister

+ 2. Paternal aunt
#< 3. Maternal aunt
& 4 Cousin

Q.2 24 experts can do a3 much work as 40 trainees in a given period of time. A plece of work can be done by 9 experts and

7 25 trainees. How meny trainees alongside 12 experts would one need to complete a similar work in the same duration of
tame?

Ans K1‘ 22
v 2 20
X318
<424
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s e v faw W 7.2 R # o wer ¥ ot oy o ww s F 10.8 R wm
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Ans XK1 4.8
v236
X339
X+ 42

Q3 3-0.2
0.1 % (3+0.2)

Ans of 1. 8,75
X2875
2% 0.0875
X% 0.875

% R e smen # e wE g8

1200, 600, 300,
Ans X1 75

v 2 150

<3 250

<+ 500

Q.3
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T s W # A A B # ow o smanh ¥ 5w Few of IeE quEw w A s
o 3 oY 57 o i 99 seaneee

V. FITEER ST FEr
X2 FaToEr 3R afdEw
X s HFER 3t R
K4 fgemr d#R afeEr

Ans

93 0.36+0.284+0.4x 0.8—0.038 =?

Ans X 1125
X2 0548
X142
v 0.89

Q3 PrfRE & @ #9 @ Rect wgh ww g & Reeaw wAwe ol 12

@)

A B C D
Ans o1 D

x2¢

X8
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V'3 ¥ TEaE T

X4 & G TR @

93 The objects that produce their own light are called as:
Ans X 1. Transparent objects

+ 2 Luminous objects

/< 3. Translucent objects

/< 4 Nonluminous objects

Y afy g 584, 11 & Reew ¥, A x 1 A F41 @9
Ans K1_
752
,/3.
K4.

62 I I (S g =%

Q3
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064 The guard cells swell when flows into them causing the stomatal pore to open.

Ans o 1. enzyme
' 2. water
# 3 chemical
# 4 hormone

01-4 T4 2017 A, few simedrn sfaife & s g oF wfger et @ S & wefor ww
e a?

-
K 2 & gidhr AfPams grdr
X3 fF gihr Te% &9
X 4 fF FiAadey

Q.4

2 7 # Al 49 # 8 saweEr & Wy A Faw g §
Ans -Kl XE
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3 .1 3t s0% A Rk 2 ¥ T W 1 O SR W W AR % 25 1 A -2 i A 4w
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Ans X 1. T 3,500
v 2. 3,000
X3 T 3,750
X< 4 % 4,000

Q.4 Pallavi's house faces East. On entering her home, you will find a gallery to the right-hand side and on moving 90°
4 Clockwise from the gallery there is a balcony. Which direction does the balcony face?

A of 1. East
< 2 south
X 3 North
54 West

Qé4 In the modermn periodic table, elements having atomic numbers 11 to 18 are placed in period:

Ans Kll
V23
532
X4y
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Ans K'L 84 i
X2 47 ecm
<3 42 em
v 94 cm

°7~4ﬂrm'aﬁ'a=rmt(ﬂw]20kg%|Wﬁ'waﬁmmﬁz}mg‘m[g=9.am-=]
A 1196 N

#2196 N

A3 198 N

X 41960 N

%' arem wifa, F 39T § e 2l
Ans K1mw

Vv o RfEmw

X s e 3T

X4 e
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Q.4 A group of five snsdents ook a test. Another student joins the group after taking tse test later. With her marks included,
9 the average score of the growp went up by 2. This stadent has got mearks more than the average marks without
her being included.

Ans KT 15
X214
V312
<418

Q.5 &
¢ Brew L w5 gud W w9 # aRaEfda A

Ans KTL

29

Kzl

25

1

1(3.;

K44l

26

Q.5 17w 95 m T aTEE # A § A o O ¥ IF O o% S T i wew o T ¥ A
1T F 180 m @ gt oF BT & 7w §, IO shEE ww A A

" X1 205 ms!
#2310 ms!
#3200 ms™!
v 317 ms!
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X 3 zrtorar e
. FETETY U

Q5 m dz Hr =9 20 cm X 12 cm X 8 em B 16.8 m =, 25 m ot T 12 o AR S T
3 fav Rt de5 B sem i

e X 6252
< 2 2652
<3 5262

v 4 2625

05 @ aw @ A A B T F A A A AR oA I

Ans F 'l;la;,?ﬂ‘mé'
A" )
X3 TR

X 4 Ay =turs

% am qrEER e e gEl SR AR gears g i 92
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A o aiEee d&e
X2 grer &
X 3 fAarer =
Ko sfefer g

Q5 v o= & et fr w7 O o & ORET & aed AR F arer § o oW ¥ e W
6 i wmr w F dEE F T A % T E, A O @ AR A e R an
Ans

X1 288 Ffevew
v 576 Tferew
X5 432 Fferew
X+ 336 Fferew

e , TEREST(ARARE) St
Ans ?{1- ﬂm

v o TR

X 3 AT

o e )

Q.5
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i ww w &

o=al T2 | =4 3

af 1 15 12 9
Ty 2 12 14 8
a¥ 3 14 15 13

o1 F T 3 H R F R ol s B2
Ans 'KT 18%

X 2 1567%

X3 19.67%

v 16.67%

Y frfafEE & @ ST W o T gEe
Ans ?{1- ﬂm
x» T
v 3 g
X+ gt

066 T FgT A eRRE A TR A S R TR A T w g
=

"V R w
X2 gErafas w1
X5 feufasr F=ir
X4 FifyF F=T
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% aru F Fede Ol #F & 3= A b
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X > Rrega i

X afas Far

X 4 IGEATRYT FAT

P @E0-(90+5x16-8 +2+3)}=2
Ans K114

X2 64

v3 16

X428

Q.6 frfafem & # #fn & d5w 7 17 § v S s g & wides A 4 - R
o T TR St

X TE S
o HJTE T

X 3 T B
P
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% TEY soEeTSeT T B
Ans,l' S
2.
Cl
3. Mg

4 Al

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

46 Who is the first chairman of the Goods and Services Tax (GST) Council?

Ans X 1. Prakash Javadekar
# 2 Suresh Prabhu
/< 3 Rajnath Singh
+ 4 Arun Jaitley

A6 5, R & 7 ¥ oy ¥ AR 3 g @ e 7:9 ¥, A S B 3y R

Ans Kl '|Eﬂ'é'

X228 af
V3245 aF
Xa18 7%
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QS oy &y o XvZ S & TS (S T H) A S F o @ an d

TH AT
2012 10
2013 15
2014 10
2015 12
2018 12

¢ 2012 s 2016 & @ F hiex & ofedw & o w2

Ans X1 0.2% e

v 2 20% HE=
X 3 5% wHo=
K4 12% o=

A6 2.05 #ex o v @GS F AEA F 2 m AT T P F AR @ A
Ans xl 41%

100
42. ?%
<3 42%

100
X4 ;%

Q.6
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Which of the following correctly represents the relationship between:
A) Pages
B) Preface
C) Books

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

067 T R $R R 2 G2 # T we & S gET e E O e @ or g O O # and
FT A &I E G W AR S T A B A w B o e # e
AT w?

Ans X1 3 wE 20 A

X2 3 e 45 e

X33 ue 15 e

v i3 gE 30 BEe
Yt @ org ¥ T W S argh a ¥ 2
Ans K1w

Page (25)




X2 eafy
VR -
X 4 TEH

°é7mﬁm%ﬁﬁwéwﬂwﬁmamﬁapgézﬁ?

Ans

X1 s
V2 dmge
X ok
X e

Q7 Work is done if thereis .
Ans  of 1 energy

/< 2. power

< 3. force

& 4 friction

04-7 T T W S 272 3 e TR S 64% 3 W WO i STET oTl wien frae s 8 O9n

Are XK 440
X2 475
X 3 450
v 425
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™ o aE sffr wd an ¥

X 2 e sieass &= ar &

X 3. HOT Fothe &1 ¢

24 gy F AT B

% 3wt 2018 g%, TEy it 9RER Fear #9 H#iF 32

A FEEr
X 2 gy e
X5 30T S
X4 qur A g

Y afy PafefRe § @ Bw Areow § wEw a9 o w2
™ X e

v 2 3\ wEry

X 3 AT WIT(SFH)

X4 T ey
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Q.7 T # 120 km #r i Ffew g oW o TR @ A €N O IEE TR 9 6T 3 km O
8 T B A W wew ww qgew A & 6 H#Uw w3 aeies At kmhe # ww S
finrm & Tsfae aad?

Ans 112
X210
X3 g
v 15

% 30 fee & 40 fee ¥ Igwa F FE w9 F B s

M 13:4
x21:80
x31:20
K44:3

% 7ur 2018, 8T F Qe 7N A P
Ans K1ﬁ n
v 2 gegade g R

X 5 A FAX @
X o TGS HEATR
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Q.8 Arpan, Tanvi and Rishav shased & cake. Arpan had ﬁ of it, Rishav hME of it and Tanvi lsad the rest. What was Tasvi's
1 sbare of the cake?

Ans

v
&

'Kzg
6

'Kai

12

74 x
7

Qés fore wre et o Premw % o Bt o fe & el smuromdt & & wn o wuw & s b
FU

Rrgmen Toue & 37 et & s ms sues & @ron # § S wew o7 s & Pk S
w14 1

FAUR
I. ¥ faemmen #r oftsr = 7w @ T §
Il. 3 ot # sgaEA 7 S Fe T

A X1 Fae | daffa B
v 2| 3R aE & FafaEfa #
Kegarldradatad
X4 Fae || sERE ¥

Y A Re e et F @ d@ o @

A B C D

5E 015 T21 25y
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Ans 1B
X2 A
XD
vic

Qf Read the statement below followed by two conclusions.

Statement:
All cables are chairs. No chair is pen,

Conclusions:
1. Mo cable is pen
2. All chairs are cables

Which of the conclusion/conclusions follows/follow from the above statement?
Ans o 1. Only conclusion 1 follows

X 2. Both conclusions follow

#< 3 Either conclusion 1 or 2 follows

2 4 Only conclusion 2 follows

Q8 2017 # grer & # =y sdwe CwREEY AT e f i O § o Tve S e
5 HE FeETE & A T

Ans ¥1. P
X 2 gAETE FR
Ko g Foomf
X 4 A AH
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Y seed Afer W @ 9% 5w RF memr S
Ans K1g;:|-$'

v2 8 A

" R

X+ 8 s

07-3 FewT &, TEMPLE =1 053625 & &9 & f@r smar §1 PRAY & R &t a7 §2

Ans 1 6815
X 2 6816
X< 3 6915
X4 6814

% 2017 # gea f&d 71T 9 & HEw Faady & A Fae?
v 2 S B
X3 3. TEAET
X o T S
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Q8 zfx TAM #r o= F15 F w9 & 20113 frar @ ¥, A GRIND ¥ R @ =0 g

Ans X1 6189144
v 2 7189144
< % 7189154
K4 7199144

99 In sexual reproduction, the parents contributes:
Ans X 1. All of its genes

+ 2 Half of its genes

/< 3. Three fourth of its genes

< 4 One fourth of its genes

% 75+ [35-{63 - (79-54+9 % 6)}]= ?
Ans «1_ 5

23

ot 25

X415

Y SoT W F G WEAT YT H R H
59967, 59964, 59961, 59958,
Ans 1. 59956
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X 2. 59954
+ ° 5955
X 4 59957

% meagie Fer &, UREr T F veren AT H _ F waway °n
Ans K1- m

1(2.31?{%1

2 3. ATerEr

K o TR

Q9 sgestar &, EARN 1 4073 ¥ &7 # @ war #1 LIGHT & fw =1 a1 2

Ans XK 1.19679
X 2 18671
2 3 18670
v 4 18679

Q.9 Wiki cyeles 2 ki towards West and then s right and eyeles 1 km. EFnwhich direction is be with respect to his inftial
5 it
position?

Ans of 1. North-West
X 2 south-East
< 3. South-West
/< 4. North-East
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Q.9 Themname ‘Bharata’ s used as a designartion for India in the Indian Constinnion referencing the ancient mythological
6 emperor, Bharata, whose story is told, in part, in the Indian eple :

Ans < 1. the Upanishads
/< 2. the Ramayana

X 3 the Geeta
+ * the Mahabharata

e is used as a catalyst in the hydrogenation of vegetable oil.

Ans X 1. Lead
# 2 Helium
v 3 Nickel
< 4 Hydrogen

%Y Rur fr =t

x22 W23 Al

D4

Ans of 1 A
2D
K&B
X+
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9° Which one of these is found in human males only?

Ans X 1. X — chromosome
# 2. XX chromosome
v 5 Y- chromosome
& 42X chromosome

Q1 = ah 1@, = 9F i mh s e o bW R, e et oo F R ol

00 e 3 g 3T F7 ITUNT W ¥ A T A ¥ AT TENT U N AR W TN & T
20% ITERT DT ST 3, A & T & TAC STONT T o O i T F N o At A
(g #) F T 2

Ans 1. 1500
X 21000
v 31800
X 4 2000
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